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1- :4X + 5Y = 80  

Y X   

Y=16-(4/5)X …………….(*) 

(*) ) (:  

U=384+(16/5)X-(41/50)X2  

2- X Y :  

 :U=384+(16/5)X-(41/50)X2  

  

 :U’X=0   

 :U’’XX<0   

U’X=0      (16/5) -(41/25)X=0      X=  80/41=1.95  

X (*) Y  

Y=14.44  

 :  

U’’XX=-(41/25)<0   

  

  



:  

1- :  

:  

X*=R/3Px  ,  y*=2R/3Py   

2- .  

:  

X*=R/3Px       Px= R/3x    Px= 120/3(2)      Px=20    

 y*=2R/3Py     Py= 2R/3y    Py= 2(120)/3(2)      Py=40    

:  

1-U0   

:  

L=xpx+ypy++ (U0-3XY) 

:  

L’x=0   Px =3  Y……………(1) 

L’y=0   Py =3 X………..……(2) 

L’ =0   U0=3XY………………….(3) 
)1 ()2 ( :y=xPx/Py x=yPy/Px )............4(  

)4 ()3 (:  
X*= (U0 Py /3Px)1/2  ,  y*= (U0 Px /3Py)1/2   

2-  :  
  U0=729, Px=1, Py=3 :  

X*= 729= 27  ,  y*= 81= 9   
      .  

  
  



:   
:U= 4X1/2Y1/2    

U0= 16    
1- : 

U0= 16      4X1/2Y1/2=16     X1/2Y1/2=4     XY=16   Y=16/X  
2-  : 

X 1 2 4 
Y 16 8 4 

  

:      
1- : 

:  
Y*=R/4Py    ;     X*=3R/4Px 

2- : 
X:  

Px  1.5 3 6 
X  60 30 15 

Y:  
Py=3     Y*= 10  

 
3- (x,y)  ) Px , (X X: 

. 
  
 


